BK S:t Erik
Guld-IAF 2016-05-14

IMP o6ver faltet, 19 bord, 37 par. Antal brickor: 57.

Plac Par Poéang Namn MID Klubb
1 31 1210.0 Daniel Eriksson - Olle Wademark 24659 14800 Géavle BK - Norrorts Bridge
2 12 1145.3 Mikael Rimstedt - Simon Hult 88184 36107 Harplinge BK - Overums BK
3 27  1114.0  Anna Zack Efraimsson - Bengt-Erik Efraimsson 4049 127 BK S:t Erik
4 26 875.1 Ylva Strandberg - Tore Stormo 9217 78250 ArlaBK
5 1 801.2 Lars Andersson - Daniel Gullberg 5351 37167 BK ALERT - Norrorts Bridge
6 33 652.0 Par Ol-Mars - Kenneth Borin 5342 2076 BK S:tErik
7 21 621.0 Tommy Strindfors - Magnus Deltin 818 20343 BK S:tErik
8 24 558.4 Peter Carlsson - Hakan Lindblom 11594 1437 BK S:t Erik - Motala Bridgeallians
9 14 495.1 Ola Rimstedt - Johan Upmark 88183 24498 Harplinge BK - BK S:t Erik
10 2 481.0 Lennart Eriksson - Ola Brandborn 9020 13092 BK S:tErik
11 3 423.3 Kjell Holmgren - Roger Ahlbom 3368 11528 Bollnds BK - BK Hudik
12 30 401.1 Gunnar Andersson - Kim Lichtenstein 18507 11826 BK ALERT - BK S:t Erik
13 9 253.8 Hans Alexandersson - Tommy Eneqvist 14762 2243 BK S:t Erik - Tyresd BK
14 17 232.0 Stig Dybdahl - Peter Bertheau N386 16757 Norge - Uppsalabridgen
15 36 140.4 Jesper Rundin - Per Clarin 80778 10538 Borlange BK - BK S:t Erik
16 4 74.0 Sofie Westlin - UIf Westlin 86222 3230 Malungs BK
17 11 57.0 Goran Hammarstrom - Simon Bech 11426 87173 BK S:t Erik - LudvikaBygdens BK
18 32 34.8 Erik Gulliksson - Andreas Westman 24169 23603 Gavle BK - Orebridgen
19 10 0.0 Emanuel Unge - Kristin Nedlich 49509 85109 Arla BK - BK S:t Erik
20 28 -32.7 Liv Marit Grude - Bodil Nyheim Oigarden 47869 N836 Prenumeranter
21 38 -47.0 Per Séderberg - Mats Nyberg 18380 13205 BK S:tErik
22 16 -80.2 Adam Stokka - Fredrik Alfredsson 30515 83200 BK S:tErik - Arla BK
23 6 -88.0 Dan Bylund - Helena Strémberg 8223 12565 Sundsvallsbridgen
24 8 -131.0  Sofia Sundstrom - Bengt Wiberg 53097 80131 Karlstads BK - Arla BK
25 22 -253.3  Caroline Tesch - Anders Hellstrom 80715 83725 BK S:tErik
26 35 -264.0  Catarina Midskog - Anna Roos 2490 4289 Karlstads BK
27 25 -268.0 Sven-Owe Andersson - Hans Vestergren 8954 33345 BK S:tErik
28 19 -271.0 Mans Berg - Torbjorn Arffman 12873 18502 BK S:tErik
29 23 -276.0  Teo Bodin - Johannes Matsson 36833 52882 Karlstads BK
30 13 -326.0  Johnny Ostberg - PG Eliasson 2051 2827 Gavle BK - Norrorts Bridge
31 34 -3409 Alexander Sandin - Sanna Clementsson 41730 55629 Storsjobygdens BK - BK Bridgehuset
32 5 -352.6 Lars Ericson - Mats Sjoberg 12536 1198 Gavle BK - Filbyter Bridge
33 7 -549.9 Peder Skaj - Bengt Stahre 83430 2409 BKALERT
34 15 -881.0 Peter Backlund - Géran Levan 244 11679 BK S:t Erik - Skdvde BA
35 37 -1114.0 Lars Nilsson - Simon Ekenberg 43950 41685 BK S:tErik - Overums BK
36 18 -1698.4 Peter Flodgvist - Jan-Olof Hegethorn 14778 12033 BK S:tErik
37 20 -2779.3 Elisabeth Lalin - Hélene Heumann 35845 35844 BK S:tErik
1 4« EKn54 2 442 3 4 K108
Nord v E1065 Ost v9 Syd v Kn92
Ingen +9 NS ¢ E9764 ov ¢ ED
#K1052 #K8543 #DKn1052
4632 &K 4 Kn5 » EKD983 4ED73  &-
vKDKn742 ¢83 v Kn87 v D432 vD8753 vE104
*74 + KDKn62 ¢ KDKn82 ¢3 465 + K109874
*E4 #98763 #Kn109 &D7 294 #E876
4« D10987 41076 4 Kn96542
v9 v EK1065 vK6
¢ E10853 ¢ 105 ¢ Kn32
#DKn *E62 +K3
Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr Ut Res Poéang
21 18 5vDV -4 &A 800 149.0 -149.0 |38 1 44 O-3 ¥vA 150 80.0 -80.0(30 9 24DS= +¢6 470 178.0 -178.0
8 31 44DS= vK 590 77.0 -77.0(20 19 44 O-2 YA 100 57.0 -57.0| 435 24 S+2 +6 170 87.0 -87.0
22 17 44DS= vK 590 77.0 -77.0(26 13 34 O-2 YA 100 57.0 -57.0| 336 24 S= +5 110 56.0 -56.0
435 5yDV-3 ¢9 500 320 -32.0|28 11 34 O-2 ©vA 100 57.0 -57.0(26 13 24 S= +6 110 56.0 -56.0
336 44 S+1 ¢5 450 100 -10.0(32 7 2vO-2 ¥5 100 57.0 -57.0| 831 3NV-1 48 100 55.0 -55.0
34 5 44 S+1 vK 450 10.0 -10.0| 336 24 O-1 vA 50 320 -32.0(1524 3v V-1 &Q 100 55.0 -55.0
38 1 464 N+1 oK 450 100 -10.0| 435 24 O-1 ¥vA 50 32.0 -32.0(20 19 4v V-1 &K 100 55.0 -55.0
6 33 44 S= vK 420 -6.0 6.0(30 9 24 O-1 ¥vA 50 320 -32.0(21 18 24 S-1 +6 -50 -5.0 5.0
16 23 44 S= +K 420 -6.0 6.0(15 24 24 O= vA -110 -35.0 35.0(22 17 34 S-1 ¢33 -50 -5.0 5.0
25 14 44 S= vK 420 -6.0 6.0 (16 23 24 O = 46 -110 -350 35.0(34 5 34S-1 +6 -50 -5.0 5.0
26 13 44 S= *7 420 -6.0 6.0(21 18 24 O= 46 -110 -350 35.0(37 2 34S-1 v2 -50 -5.0 5.0
28 11 44 N= +K 420 -6.0 6.0 (22 17 24 O= vA -110 -350 35.0| 6 33 34DS-1 46 -100 -31.0 31.0
30 9 44 S= +4 420 -6.0 6.0(25 14 24 O= 46 -110 -35.0 35.0(|16 23 34 S-2 +6 -100 -31.0 31.0
32 7 44 S= *7 420 -6.0 6.0(27 12 24 O= 46 -110 -35.0 35.0(25 14 34 S-2 46 -100 -31.0 31.0
37 2 44 S= vK 420 -6.0 6.0(34 5 24 O= 46 -110 -35.0 35.0|28 11 34DS-1 46 -100 -31.0 31.0
1524 34 N+2 8 200 -101.0 101.0| 6 33 24 O+1 YA -140 -53.0 53.0|38 1 44DN-1 49 -100 -31.0 31.0
20 19 34 S+1 vK 170  -108.0 108.0| 8 31 24 O+1 ¥vA -140 -53.0 53.0|32 7 3vyDN-3 ¢7 -500 -167.0 167.0
27 12 34 S+1 42 170 -108.0 108.0(37 2 24 O+1 ¥vA -140 -53.0 53.0(27 12 4y V+1 v2 -650 -200.0 200.0
- 10 0.0 -10 0.0 - 10 0.0
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4 & K42 5 K3 6 & KD42
Vast vD1087 Nord v EDKn3 Ost vD7
Alla + 96 NS + KD98742 ov + D10832
#K1085 »- D6
« D7 & EKn3 s E 4976542 & Kn5 « E1063
v 965 vKn43 vK109862 v54 vKn942 ¢105
¢ KKn7543 ¢ E2 + 106 +5 + Kn9 +E4
&73 #ED942 #ED104 #KKn93 #EK1053 #Kn9872
4109865 « DKn108 + 987
v EK2 v7 v EK863
+ D108 ¢ EKn3 + K765
£Kn6 #87652 &4
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
17 24 INO-1 T 100 115.0 -115.0 |27 14 6¢DN= v6 1540 241.0 -241.0 |28 13 2y S+1 &A 140 52.0 -52.0
1 3 3eV= v8 -110 340 -34.0(17 24 64 N= v4 1370 214.0 -214.0|23 18 4¢ S= &A 130 51.0 -51.0
536 2v O = T -110 340 -340| 932 5¢DN+1 v3 950 134.0 -134.0(33 8 3¢ S+1 #A 130 51.0 -51.0
28 13 3¢ V= a2 -110 340 -34.0(26 15 5¢DN+1 v5 950 134.0 -134.0(38 2 3¢ S+1 &A 130 51.0 -51.0
30 11 3¢ V= v8 -110 340 -34.0(22 19 4vyDV -4 &K 800 100.0 -100.0| 1 3 24 N= &2 110 34.0 -34.0
3110 3¢ V= v8 -110 340 -340(21 20 BNN+1 5 630 440 -440( 932 2v S= aJ 110 34.0 -34.0
38 2 3¢ 0= vA -110 340 -340(23 18 BNN+1 5 630 44.0 -44.0|21 20 2v S= *A 110 34.0 -34.0
23 18 INO+1 &5 -120 30.0 -30.0(28 13 5¢ N+1 ¥5 620 43.0 -43.0|31 10 2¢ N+1 &3 110 34.0 -34.0
932 3¢ V+1L ¢9 -130 210 -21.0(30 11 5¢ N+1 v7 620 43.0 -43.0(35 6 3¢ N= vT 110 34.0 -34.0
35 6 3¢ V+1 46 -130 21.0 -21.0(35 6 5¢ N+1 v5 620 43.0 -43.0|17 24 INN= &2 90 27.0 -27.0
437 3¢ O+3 T -170 10 -10| 536 3¢ N+3 v2 170 -85.0 85.0| 7 34 Pass -16.0 16.0
734 INO+3 oT -180 -2.0 20|31 10 4¢ N+2 v6 170 -85.0 85.0(26 15 Pass -16.0 16.0
33 8 INO+3 T -180 -2.0 20| 734 3v V-1 ¢K 50 -117.0 117.0|30 11 Pass -16.0 16.0
2120 INO+4 &T -210 -16.0 16.0(33 8 3v V-1 +¢K 50 -117.0 117.0|27 14 4¢ S-1 &A -50 -38.0 38.0
26 15 INO+4 45 -210 -16.0 16.0| 1 3 3NN-1 &3 -100 -156.0 156.0| 5 36 44 N-2 &2 -100 -59.0 59.0
2219 INO+5 45 -240 -32.0 32.0( 437 3NS-1 4A -100 -156.0 156.0 (22 19 24 N-2 %2 -100  -59.0 59.0
16 25 3NO = vA -600 -155.0 155.0(38 2 3NS-1 #Q -100 -156.0 156.0 4 37 34 N-4 &2 -200  -99.0 99.0
27 14 3NO+1 T -630 -169.0 169.0|16 25 2v V+1 K -140 -168.0 168.0 |16 25 44 N-4 &8 -200  -99.0 99.0
- 12 20.1( - 12 20.1( - 12 20.1
7 « KDKn654 8 « K107 9 « EK72
Syd v 65 Vast vK8 Nord vKn72
Alla ¢ 8432 Ingen ¢+ KKn9764 ov 97
210 &K5 #8764
4832 a7 4« Kn84 52 #1086 & D43
v7 v EK98 vDKnl104 vE97 v 9854 v ED63
¢ EKKn75 ¢ D9 + D108 +53 ¢+ E10652 ¢ Kn3
#E652 #KDKn987 #1086 #EDKnN972 &3 #EK92
« E109 « ED963 4« Kn95
v DKn10432 v 6532 v K10
¢ 106 ¢ E2 + KD84
#43 #43 #DKn105
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3211 4y V-5 &T 500 279.0 -279.0|38 3 3NN+3 &A 490 100.0 -100.0|38 3 INO-2 #Q 200 102.0 -102.0
23 20 5« V+1 &K -620 100.0 -100.0 [ 6 37 3NN+2 &A 460 840 -840| 637 INO-1 #Q 100 60.0 -60.0
30 13 5 V+1 &K -620 100.0 -100.0 (18 25 44 N+1 5 450 840 -84.0(1033 2v0O-1 #Q 100 60.0 -60.0
2 4 540+2 vQ -640 86.0 -86.0(23 20 44 S+1 &T 450 840 -84.0(2320 INO-1 #Q 100 60.0 -60.0
5 1 540+2 vQ -640 86.0 -86.0| 5 1 3NN+1 #A 430 740 -74.0(24 19 INO-1 #Q 100 60.0 -60.0
27 16 54 0+2 vQ -640 86.0 -86.0| 2 4 44 S= *6 420 740 -74.0(30 13 2¢ O-1 #Q 100 60.0 -60.0
28 15 54 O+2 vQ -640 86.0 -86.0(24 19 44 N= *6 420 740 -740| 2 4 24 N-1 #A -50 -1.0 1.0
38 3 54V+2 v6 -640 86.0 -86.0| 8 35 34 N+2 44 200 -200 200| 5 1 2v0= L Jo) -110 -31.0 31.0
835 3NO+4 +vQ -720 65.0 -65.0(34 9 34 S+2 46 200 -20.0 20.0(17 26 2v O = *0Q -110 -31.0 31.0
34 9 3NO+4 +¢Q -720 65.0 -65.0(36 7 24 N+3 5 200 -20.0 20.0|18 25 2v O = *0Q -110 -31.0 31.0
6 37 64 O= 4 A -1370 -125.0 125.0|28 15 34 S+1 &6 170 -33.0 33.0|28 15 2v O= L Jo) -110 -31.0 31.0
10 33 6# V= +K -1370 -125.0 125.0|31 12 4¢ S+2 3 170 -33.0 3303112 2vO= *0Q -110 -31.0 31.0
17 26 64 O = s A -1370 -125.0 125.0 |10 33 2¢ N+3 45 150 -47.0 47.0132 11 2v O= *0Q -110 -31.0 31.0
2221 64 0= 4 A -1370 -125.0 125.0 |27 16 2¢ N+3 45 150 -47.0 47.0134 9 2v O= L Jo) -110 -31.0 31.0
2419 6& V= +K -1370 -125.0 125.0|30 13 2¢ N+3 45 150 -47.0 47022 21 INO+1 Q -120  -37.0 37.0
1825 640 +1 ¢vQ -1390 -138.0 138.0|32 11 2¢ N+3 +¢5 150 -47.0 47.0|1 835 2y O+1 &2 -140 -49.0 49.0
3112 64 0+1 T -1390 -138.0 138.0 |17 26 44 S-1 ¢Q -50 -122.0 122.0|27 16 2v O+1 #Q -140 -49.0 49.0
36 7 640+1 vQ -1390 -138.0 138.0|22 21 44 S-2 ¢Q -100 -138.0 138.0(36 7 2v O+1 #Q -140 -49.0 49.0
- 14 87| -14 87| -14 8.7
10 a7 11 10964 12 « KD63
Ost v KDKn Syd v 852 Vast v 10864
Alla ¢+ EDKN973 Ingen ¢+ E76 NS + KD
#965 #KD5 #KD2
« E92 4 D6 & K2 « EDKn87 A7542 -
v 96 v 108743 vEK743 vKn v ED5 v K9732
46542 48 +53 + D982 +52 + E976
#DKn82 &#EK1074 #9642  #EKn8 #Kn943 &E1087
« KKn108543 453 « EKn1098
vE52 vD1096 vKn
+ K10 + KKn104 + Kn10843
&3 #1073 *65
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr ut Res Poéang
3 5 44 S+2 99 680 56.0 -56.0| 936 3NO-2 ¢4 100 105.0 -105.0 (31 14 44D S= +¢5 790 137.0 -137.0
30 15 44 S+2 v9 680 56.0 -56.0|11 34 44 O-2 45 100 105.0 -105.0 |25 20 44 S+1 YA 650 84.0 -84.0
35 10 44 S+2 v9 680 56.0 -56.0(31 14 3NO-2 &5 100 105.0 -105.0| 3 5 44 S= vA 620 71.0 -71.0
6 2 44 S+1 v9 650 41.0 -41.0|32 13 3NO-2 ¢4 100 105.0 -105.0 ({11 34 44 N= v2 620 71.0 -71.0
936 44 S+1 v9 650 41.0 -41.0|18 27 44 O-1 43 50 79.0 -79.0(|24 21 44 S= vK 620 710 -71.0
19 26 44 S+1 4 650 41.0 -41.0|2520 3NO-1 &3 50 79.0 -79.0(28 17 44 N= *7 620 71.0 -71.0
25 20 44 S+1  #Q 650 41.0 -41.0|3312 3NO-1 ¢4 50 79.0 -79.0|30 15 44 S= a4 620 71.0 -71.0
28 17 44 S+1  v9 650 41.0 -41.0|37 8 44 O-1 43 50 79.0 -79.0(35 10 44 N= &8 620 710 -71.0

BK S:t Erik, Guld-IAF 2016-05-14, sida 2 av 9




32 13 44 S+1 &Q 650 41.0 -41.0|30 15 3V +1l T -130 70 -7.0|37 8 44 S= a4 620 71.0 -71.0
38 4 44 S+1 #Q 650 410 -410| 7 1 34V+1l 43 -170  -11.0 11.0|38 4 44 N= *A 620 710 -71.0
7 1 44 S= *Q 620 250 -25.0(3510 34 O+1 T -170  -11.0 11.0|19 26 5vDO-3 ¥3 500 29.0 -29.0
18 27 44 S= v9 620 250 -250( 6 2 3NO= +J -400 -100.0 100.0( 6 2 24 N+2 3 170 -96.0 96.0
23 22 44 S= v9 620 25.0 -25.0(19 26 3ANO= *T -400 -100.0 1000 7 1 34 S+1 ©vA 170 -96.0 96.0
31 14 44 S= *Q 620 25.0 -25.028 17 3NV = *K -400 -100.0 100.0| 9 36 24 N+2 43 170 -96.0 96.0
3312 44 S= v9 620 25,0 -25.0(38 4 3NO= v9 -400 -100.0 100.0 (18 27 24 S+2 5 170 -96.0 96.0
11 34 3NN-1 &2 -100 -184.0 184.0|24 21 44 O= &3 -420 -107.0 107.0 (33 12 34 N+1 #A 170 -96.0 96.0
24 21 3NS-2 &2 -200 -198.0 198.0| 3 5 3NO+1 &T -430 -107.0 107.0|23 22 54 S-1 45 -100 -169.0 169.0
37 8 3NN-2 &#A -200 -198.0 198.0 (23 22 3NO+1 &5 -430 -107.0 107.0(32 13 44 N-1 v2 -100 -169.0 169.0
- 16 -1.4( - 16 -1.4( - 16 -1.4
13 10 14 « EK1032 15 K5
Nord v ED92 Ost vD9 Syd v 1086
Alla + EK3 Ingen +94 NS ¢+ EKD
#E10632 #KKn103 #EK974
4 ED642 4 Kn98 D84 496 4763 4 D2
v10865 vKKn3 vE532 v1076 vKDKn3 v E542
¢+ 75 +D1098 ¢+ K83 ¢ Knl062 ¢ Kn1096 ¢ 842
D5 #Kn87 762 #ED85 #Kn5 #D863
« K753 4 Kn75 « EKn10984
v74 v KKn84 v97
¢ Kn642 ¢+ ED75 4753
K94 294 102
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
24 23 24D O-1 ¢A 200 123.0 -123.0 |10 37 44 N+1 ¢J 450 128.0 -128.0 |24 23 44 N+3 42 710 52.0 -52.0
4 6 2NS= a2 120 97.0 -97.0( 8 2 44 N= v6 420 114.0 -114.0 (25 22 44 N+3 &6 710 52.0 -52.0
12 35 3# N= &7 110 85.0 -85.0(12 35 44 N= v6 420 114.0 -114.0|31 16 44 N+2 ¢2 680 37.0 -37.0
38 5 3&#N= &7 110 85.0 -85.0(24 23 44 N= 43 420 114.0 -114.0 (32 15 44 N+2 &6 680 37.0 -37.0
1 9 3NN-1 9 -100 0.0 0.0|31 16 3NS= +3 400 105.0 -105.0 |34 13 44 N+2 ¢2 680 37.0 -37.0
8 2 3NS-1 42 -100 0.0 0.0|32 15 34 N+1 49 170 200 -200| 1 9 44 N+1 ©vA 650 20.0 -20.0
1928 BNN-1 T -100 0.0 00| 7 3 34 N= +J 140 6.0 -6.0|7 3 44 N+1 ©<vA 650 20.0 -20.0
26 21 3NS-1 43 -100 0.0 0.0(26 21 34 N= ¢J 140 6.0 -6.0|8 2 44 S+1 ¢vK 650 20.0 -20.0
30 17 3# N-1 8 -100 0.0 00| 4 6 24 N= +J 110 -9.0 9.0|19 28 44 N+1 3 650 20.0 -20.0
3215 3¢ S-1  +5 -100 0.0 0.0|38 5 2#S= +3 90 -17.0 17.0)|20 27 44 S+1 ¢K 650 20.0 -20.0
3314 3NS-1 42 -100 0.0 0.0(20 27 INV-1 4A 50 -35.0 35.0|26 21 44 N+1 ©vA 650 20.0 -20.0
34 13 3NS-1 44 -100 0.0 00| 1 9 44 N-1 ¢J -50 -78.0 78.0|30 17 44 S+1 ¢K 650 20.0 -20.0
36 11 3&# N-1 &7 -100 0.0 0.0|19 28 44 N-1 ¢2 -50 -78.0 78.0|33 14 44 S+1 ¢K 650 20.0 -20.0
10 37 BNN-2 +9 -200 -47.0 47.0|2522 44 N-1 46 -50 -78.0 78.0(36 11 44 S+1 vK 650 20.0 -20.0
3116 3NS-2 &2 -200 -47.0 47.0(30 17 2¢ S-1 vK -50 -78.0 78.0|10 37 44 N= &6 620 3.0 -3.0
7 3 5#4N-3 &9 -300 -86.0 86.0(33 14 44 S-1 &2 -50 -78.0 78.0| 4 6 3vDV-3 ¢A 500 -45.0 45.0
20 27 3NN-3 49 -300 -86.0 86.0(34 13 44 N-1 ¢ 50 -78.0 78.0|38 5 24 N+4 46 230 -139.0 139.0
2522 3NS-4 v6 -400 -124.0 124.0(36 11 44 N-1 v6 -50 -78.0 78.0|12 35 64 S-1 ¢K -100 -214.0 214.0
- 18 -29.8| - 18 -29.8| - 18 -29.8
16 « Kn1097 17 # 76542 18 « D5
Vast v 832 Nord vKD Ost v 95
oV +D2 Ingen + E109 NS ¢ D9543
#10642 #1095 #DKn74
« E53 4642 « D98 «E10 4 KKn10972 &E6
v EKDKn104 v97 vKn8432 vE1065 vE32 v DKn1087
¢ 104 + K87 ¢+ K7 + D8432 ¢ E2 +87
D7 #EK853 &#EKKn  &D7 »E8 #K953
« KD8 « KKn3 4843
v 65 v97 v K64
¢ EKNn9653 ¢ Kn65 + KKn106
#Kn9 £86432 #1062
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
210 4v V= aJ -620 18.0 -18.0(34 15 4v O= &5 -420 17.0 -17.0(26 23 4v O = *T -420 65.0 -65.0
9 3 4v V= aJ -620 18.0 -18.0( 2 10 4v V+1 a7 -450 -1.0 10| 210 4v O+1 v4 -450 50.0 -50.0
1336 4v O= +Q -620 180 -180( 5 7 4v V+l &5 -450 -1.0 10| 5 7 4vyO0+1 T -450 50.0 -50.0
21 28 4v V= +Q -620 18.0 -180( 8 4 4v V+l &5 -450 -1.0 10(11 1 4e V+1 ¥9 -450 50.0 -50.0
26 23 4v V= +Q -620 18.0 -180( 9 3 4v V+1l &T -450 -1.0 1.0]2524 49y O+1 T -450 50.0 -50.0
27 22 4v V= +Q -620 18.0 -18.0|11 1 4y O+1 3 -450 -1.0 1.0(13 36 44 V+2 #Q -480 35.0 -35.0
3118 4v V= ¢+ Q -620 18.0 -18.0(13 36 4y O+1 &T -450 -1.0 10(34 15 4v O+2 v4 -480 35.0 -35.0
3316 4v V= +Q -620 18.0 -18.0(21 28 4v V+1 &T -450 -1.0 108 4 5v0+2 v4 -510 20.0 -20.0
34 15 4v V= +Q -620 18.0 -18.0|25 24 4y V+1 &T -450 -1.0 109 3 4v O+3 &3 -510 20.0 -20.0
3514 4v V= aJ -620 18.0 -18.026 23 4y V+1 &5 -450 -1.0 1.0(21 28 4vy O+3 T -510 20.0 -20.0
37 12 3NO+1 #J -630 18.0 -18.0(27 22 4v O+1 9 -450 -1.0 1.0(27 22 49y O+3 43 -510 20.0 -20.0
8 4 4vV+1l ¢Q -650 0.0 0.0|30 19 4y V+1 &T -450 -1.0 1.0(30 19 4v O+3 v4 -510 20.0 -20.0
30 19 3NV +3 &K -690 -18.0 18.0(31 18 4v V+1 a2 -450 -1.0 10(3118 4vy O+3 ¥v2 -510 20.0 -20.0
5 7 3NO+4 +¢5 -720  -36.0 36.0(32 17 4v V+1 a2 -450 -1.0 1.0(32 17 49y O+3 43 -510 20.0 -20.0
11 1 3NO+4 +¢5 -720 -36.0 36.0(|33 16 4y V+1 &T -450 -1.0 10(3514 4v O+3 T -510 20.0 -20.0
2524 3NO+4 3 -720  -36.0 36.0(35 14 4v V+1 a2 -450 -1.0 10(3316 6y O+1 T -1010 -165.0 165.0
3217 3NO+4 +5 -720  -36.0 36.0 (37 12 4v V+1 &T -450 -1.0 10|37 12 6y O+1 T -1010 -165.0 165.0
38 6 3NO+4 +5 -720  -36.0 36.0(38 6 4y O+1 &2 -450 -1.0 10(38 6 64 V+1 ¢3 -1010 -165.0 165.0
20 - -48.8 20 - -48.8 20 - -48.8
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19 &« Kn3 20 #1093 21 « E97542
Syd v Kn10542 Vast v D98763 Nord v 1094
oV + D643 Alla 5 NS *7
#E8 #Kn64 #KKn4
4D10652 «E4 4K84 &D 4 KDKn6 & -
v KD6 v 9873 v542  vEK v D53 v EKKn2
¢ 985 ¢ EK72 ¢ KKn3 ¢ ED10874 ¢ 10654 ¢ EKKn932
«D2 #Kn64 #KD72 #E1098 #102 #D95
« K987 « EKN7652 #1083
vE vKnl0 v 876
¢ Knl0 ¢ 962 +D8
#K109753 #53 #E8763
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
36 15 24 V-2 #A 200 72.0 -72.0|14 37 7INDO-1 «A 200 278.0 -278.0|31 20 3¢ O+4 v6 -190 106.0 -106.0
9 5 24 S+l 42 110 30.0 -30.0(31 20 54V +1l T -620 172.0 -172.0 |26 25 24DN-1 +A -200 103.0 -103.0
3120 2#S+1 vK 110 30.0 -30.0(38 7 5¢ O+1 vJ -620 172.0 -172.0 |36 15 24DN-1 ¢A -200 103.0 -103.0
3318 3#S= a2 110 30.0 -30.0|33 18 4NO+3 &5 -720 148.0 -148.0| 1 13 5¢ O= #A -400 25.0 -25.0
38 7 2#S+1 45 110 30.0 -30.0| 113 6 V= oT -1370  -49.0 490 9 5 56 O= A -400 25.0 -25.0
3516 24 V-1 v2 100 240 -240| 311 6¢ V= v3 -1370 -49.0 49.0|33 18 5¢ O+1 +v6 -420 9.0 -9.0
10 4 INN= *2 90 200 -200| 9 5 64 O= vJ -1370  -49.0 49.0(34 17 5¢ O+1 &3 -420 9.0 -9.0
12 2 24S= 9 90 20.0 -20.0|27 24 64 V= oT -1370  -49.0 49.0|38 7 5¢ O+1 &3 -420 9.0 -9.0
14 37 24 S= vK 90 20.0 -20.0(28 23 6¢ V= v7 -1370  -49.0 490 6 8 4NV= a4 -430 8.0 -8.0
21 30 24 S= ¢5 90 20.0 -20.0|32 19 6¢ O= vJ -1370  -49.0 49.0|12 2 3NV+1l o4 -430 80 -80
3219 2#S= v4 90 20.0 -20.0|34 17 6¢ O= vJ -1370  -49.0 49.0|27 24 3NV +1l 4 -430 80 -80
34 17 24 S= a2 90 200 -20.0(3516 6¢ O= vJ -1370  -49.0 49.0(28 23 4y V+1 7 -450 -4.0 4.0
311 3#S-1 +¢5 50 -440 44.0(36 15 64 O= vJ -1370 -49.0 49.0| 311 3NO+2 «3 -460 -6.0 6.0
6 8 2NN-1 +A 50 -440 440| 6 8 64V+l ¢5 -1390 -62.0 62.0|14 37 3NO+2 &2 -460 -6.0 6.0
27 24 3#S-1  +5 50 -440 440(12 2 6+#V+l +¢6 -1390 -62.0 62.0(32 19 3NV+2 &K -460 -6.0 6.0
113 3#S-2 +¢5 -100 -68.0 68.0|21 30 6+ O+1 +¢5 -1390 -62.0 62.0(21 30 24aDN-2 ¢A -500 -23.0 23.0
26 25 2y N-2 +A -100 -68.0 68.0|26 25 6V +1l 5 -1390 -62.0 62.0|35 16 6¢ V= v4 -920 -165.0 165.0
28 23 3#S-2 45 -100 -68.0 68.0|10 4 6NO=  &T -1440 -81.0 81.0|10 4 34DN-4 ¢2 -1100 -203.0 203.0
22 - -4.4 22 - -4.4 22 - -4.4
22 8 23 « E975 24 4643
Ost v DKn102 Syd v 108 Vast vE109742
ov ¢ ED862 Alla ¢ E976 Ingen +D8
D73 *765 *E7
« D104 & KKn976 «D2 « 1063 « D98 « EKKn5
vE97643 vK5 vDKn76 v532 v Kn5 vK
+ K94 +3 +D10832 ¢ K54 ¢ EK97 #6542
&E #106542 #E3 #Kn842 #Kn943 #D1065
«E532 « KKng4 #1072
v8 v EK94 v D863
¢ Kn1075 ¢ Kn ¢ Knl103
#KKn98 #KD109 #K82
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
37 16 54DN= 3 550 180.0 -180.0 |35 18 44 S+2 vQ 680 79.0 -79.0|10 6 44 V-2 ©vA 100 81.0 -81.0
10 6 24aDO-2 v8 500 170.0 -170.0| 7 9 54 N= 3 650 67.0 -67.0|33 20 4¢ V-2 vA 100 81.0 -81.0
412 44 O0-2 ¢ 200 76.0 -76.0|11 5 44 N+1 2 650 67.0 -67.0|3419 540-2 v6 100 81.0 -81.0
27 26 4vyDV-1 ¢A 200 76.0 -76.0|13 3 44 N+1 &2 650 67.0 -67.0| 7 9 3¢ V-1 #A 50 55.0 -55.0
3518 44 O-2 8 200 76.0 -76.0|28 25 44 S+1 #A 650 67.0 -67.0|11 5 4«V-1 ©vA 50 55.0 -55.0
11 5 4¢ N= vK 130 51.0 -51.0|33 20 44 S+1 #A 650 67.0 -67.0|27 26 34 V-1 #A 50 55.0 -55.0
28 25 3¢ N+1 vK 130 51.0 -51.0|37 16 44 S+1 2 650 67.0 -67.0|3518 4¢ V-1 vA 50 55.0 -55.0
3320 2vV-1 vQ 100 36.0 -36.0|10 6 44 N= +6 620 51.0 -51.0|37 16 34 O-1 v3 50 55.0 -55.0
3419 4v V-1 #3 100 36.0 -36.0|15 1 44 S= ¢2 620 51.0 -51.0|13 3 3v N-1 «K -50 140 -14.0
38 8 2v V-1 8 100 36.0 -36.0|27 26 44 N= *4 620 51.0 -51.0|32 21 3v N-1 A -50 140 -14.0
214 24 O= v8 -110 -34.0 34.0|34 19 44 N= v2 620 51.0 -51.0| 214 3vyDN-1 %6 -100 -10.0 10.0
15 1 24 0= v6 -110 -34.0 34.0|36 17 44 N= ¢+ K 620 51.0 -51.0| 412 3vyDN-1 «A -100 -10.0 10.0
2330 2v V= vQ -110  -340 34.0| 214 3NN= *4 600 39.0 -39.0|23 30 3v N-2 A -100 -10.0 10.0
2231 2y V+1l 48 -140 -50.0 50.0| 4 12 34 S+2 ¢2 200 -95.0 950|15 1 34 0= v6 -140 -28.0 28.0
3221 2vV+1l vQ -140 -50.0 50.0|38 8 INS+2 ¢2 150 -115.0 115.0 (22 31 4vDN-2 4A -300 -88.0 88.0
36 17 44 O= v8 -620 -175.0 175.0|23 30 64 S-1 vQ -100 -168.0 168.0 |28 25 3vyDN-2 4A -300 -88.0 88.0
13 3 34DO= ¥5 -730 -194.0 194.0(32 21 3NN-2 v2 -200 -186.0 186.0 |36 17 4vDN-3 4A -500 -156.0 156.0
7 9 2vDO+1 48 -870 -217.0 217.0|22 31 54S-3 ¢2 -300 -211.0 211.0|38 8 4vyDN-3 #A -500 -156.0 156.0
- 24 98| -24 98| -24 9.8
25 « K108 26 «D8 27 » 86
Nord vE Ost v 8432 Syd v D642
ov + D108753 Alla 4963 Ingen ¢ KD1052
*Kn73 #EKn105 #Kn3
4 DKn52 #E643 4 Kn965 &743 4 D32 4 EK974
v6 v D10832 v1097 vEDS v1093 vKn85
¢ K642 ¢ Kn ¢ EKKn #8754 +98 ¢ Kn7
#EK54 %962 *K62 #943 #K9762 #1084
497 « EK102 « Knl05
v KKn9754 v KKn6 v EK7
¢E9 ¢ D102 + E643
«D108 «D87 #EDS
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr ut Res Poéang
3520 3¢ N= a4 110 82.0 -820| 117 INS+3 <A 180 13.0 -13.0|33 22 3NS+2 %2 460 140.0 -140.0
3619 2NO-1 49 100 79.0 -79.0| 513 INS+3 T 180 13.0 -13.0|35 20 3NS+2 &7 460 140.0 -140.0
38 9 24 0-1 v¥9 100 79.0 -79.0|11 7 INS+3 2 180 130 -13.0| 513 4vS= a2 420 123.0 -123.0
8 10 2¢ N= *2 90 78.0 -78.0(14 4 INS+3 45 180 13.0 -13.0|36 19 4y N= s A 420 123.0 -123.0
11 7 3¢ N-1 &2 50 170 -17.0|16 2 INS+3 &5 180 13.0 -13.0(34 21 3v N+1 4A 170 33.0 -33.0
16 2 4¢ N-1 4A -50 170 -17.0(23 32 INS+3 T 180 130 -13.0| 117 4¢ S= 9 130 150 -15.0
3025 3¢ N-1 &2 50  17.0 -17.0]|24 31 INS+3 &2 180 13.0 -13.0|28 27 4¢ S= a2 130 15.0 -15.0
3718 3¢ N-1 42 50 17.0 -17.0(34 21 INS+3 +A 180 13.0 -13.0(30 25 3¢ N+1 4A 130 150 -15.0
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117 3vy N-2 &A -100 -12.0 12.0( 315 2NS+1 +¢A 150 -5.0 50138 9 3¢ N+1 &A 130 15.0 -15.0
14 4 29 S-2 #A -100 -12.0 12012 6 INS+2 v4 150 -5.0 50| 315 3NS-1 42 -50 -66.0 66.0
2332 3¢ N-2 100 -12.0 12.0(28 27 INS+2 46 150 -5.0 50| 810 5¢ S-1 42 -50 -66.0 66.0
24 31 3¢ N-2 v2 -100 -12.0 12.0(35 20 INS+2 46 150 -5.0 50|12 6 5¢ N-1 &K -50 -66.0 66.0

315 24 0= ¢ A -110  -13.0 13.0(36 19 INS+2 46 150 -5.0 50|14 4 5¢ N-1 &A -50 -66.0 66.0
3322 24 0= ¢A -110 -13.0 13.0|37 18 INS+2 A 150 -5.0 50|16 2 5¢ N-1 &K -50 -66.0 66.0

513 24 O+1 +¢A -140 -30.0 30.0(38 9 INS+2 +A 150 -5.0 5.0123 32 5¢ N-1 &A -50 -66.0 66.0
12 6 2¢vDS-2 #A 300 -94.0 94.0( 810 INS+1 +¢A 120 -23.0 23.0|24 31 5¢ N-1 &A -50 -66.0 66.0
28 27 2vDS-2 &A 300 -94.0 94.0(30 25 INS+1 +¢A 120 -23.0 23.0|37 18 3NS-1 &2 -50 -66.0 66.0
34 21 2¢vDS-2 #A -300 -94.0 94.0(33 22 INS+1 46 120 -23.0 23.0|11 7 6¢ N-2 &A -100  -91.0 91.0

- 26 154 - 26 154 - 26 15.4
28 « E98 29 « D106 30 « EKn862
Vast v 984 Nord v54 Ost v92
NS ¢ 54 Alla ¢ EDKn53 Ingen + ED6

#108763 #Kn93 #KKn6
4764 4 Knl0 4 E983 47542 « KD & 107
v 752 v EKKn103 v K7 vD2 vKD74 vKnl08
¢ EKKn9 ¢ D1076 ¢+ K982 ¢ 1064 ¢+ K3 + Kn974
#KD5 #92 &#KD4 #7652 #D9753 #E842
« KD532 4 KKn #9543
vD6 v EKn109863 vE653
¢ 832 *7 ¢ 10852
&EKn4 &E108 +10

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
36 21 4v O-2 &K 100 95.0 -95.0| 6 14 2NDV-5 ¥5 1400 218.0 -218.0| 2 18 24 N+1 vJ 140 37.0 -37.0

119 4v O0-1 &K 50 69.0 -69.0(37 20 BNN+2 &7 660 51.0 -51.0(11 9 24 S+1 &K 140 37.0 -37.0

218 4v O-1 &K 50 69.0 -69.0| 119 4v S+1 #K 650 50.0 -50.0(13 7 24 N+1 vJ 140 37.0 -37.0

416 4v O-1 &K 50 69.0 -69.0| 4 16 4v S+1 A 650 50.0 -50.0(17 3 24 N+1 vJ 140 37.0 -37.0
12 8 4v O-1 &K 50 69.0 -69.0(12 8 4v S= *K 620 39.0 -39.0(25 32 24 N+1 46 140 37.0 -37.0
2532 4v O-1 &K 50 69.0 -69.0(|13 7 4v S= &K 620 39.0 -39.0(36 21 24 N+1 vJ 140 37.0 -37.0
30 27 4v V-1 &8 50 69.0 -69.0(15 5 4v S= &K 620 39.0 -39.0|37 20 24 N+1 vJ 140 37.0 -37.0
38 10 4v O-1 &K 50 69.0 -69.0(|17 3 4v S= &K 620 39.0 -39.0(12 8 INDV-1 42 100 18.0 -18.0
13 7 3¢ O= +5 -110 3.0 -3.0|30 27 4v S= &K 620 39.0 -39.0(30 27 2¢ S= &K 90 50 -5.0
3126 3¢ V= 45 -110 30 -3.0(3126 4v S= &K 620 39.0 -39.0| 416 INV-1 a2 50 -14.0 14.0
3720 3¢ V+1 ¢4 -130 -11.0 11.0(36 21 4v S= &K 620 39.0 -39.0( 614 INO-1 43 50 -14.0 140
24 33 3y V+1 ¢5 -170 -29.0 29.0(34 23 44 O-4 7 400 -45.0 45.0|15 5 INV-1 &2 50 -14.0 14.0
34 23 3v V+1 &A -170 -29.0 29.0 (25 32 2v S+3 4A 200 -109.0 109.0 (24 33 INV-1 43 50 -14.0 14.0
11 9 24DS-1 +A -200 -350 350|218 2y S+2 48 170  -122.0 122.0(31 26 INV-1 42 50 -14.0 14.0

614 4v O= &K -420 -120.0 120.0 (24 33 2v S+2 &K 170  -122.0 122.0(34 23 24 V-1 ¥9 50 -14.0 14.0
15 5 4v V= +6 -420 -120.0 120.0 (35 22 2v S+2 &K 170  -122.0 1220 119 2v S-1 4K -50 -59.0 59.0
17 3 4v O= +K -420 -120.0 120.0 (38 10 3v S+1 &K 170  -122.0 122.0(35 22 44 N-1 #A -50 -59.0 59.0
3522 4v 0= &K -420 -120.0 1200 - 28 -0.6 (38 10 44aDN-1 vJ -100 -80.0 80.0

- 28 -0.6 (11 9 A-/A-  -270 -27.0| - 28 -0.6

11 9 Pen/Pen -27.0 -27.0

31 4975 32 & Kn 33 # Kn32
Syd vE73 Vast vK8 Nord vD10
NS ¢ ED10432 oV + E1083 Ingen ¢ EKn65

&E #EK9743 #10742
« KD & EKn8 «E10 & K832 « D107 & E9854
v K95 vKn1064 v Kn96 vE107543 v EKKn753 v82
¢ Kn8 4975 ¢ Kn9742 ¢ KD 4942 + 107
#1098763 #K42 &#Knl05 &2 &D #EKNn65
4106432 « D97654 « K6
v D82 vD2 v 964
+ K6 465 + KD83
#DKn5 D86 #K983

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang

121 3NS= &2 600 164.0 -164.0| 3 19 3NN= v4 400 157.0 -157.0|38 11 44 O-3 +K 150 115.0 -115.0
16 6 3NS= &T 600 164.0 -164.0 |25 34 3NN = v7 400 157.0 -157.0| 1 21 44 O-1 +K 50 76.0 -76.0
3128 3NS= &T 600 164.0 -164.0|14 8 4v O-2 46 200 88.0 -88.0(32 27 44 O-1 v4 50 76.0 -76.0

517 24 S+1 &T 140 150 -15.0( 2 20 24 S+2 vJ 170 79.0 -79.0 |36 23 Pass 55.0 -55.0
13 9 34 S= &2 140 150 -150( 121 44 N= &2 130 65.0 -65.0|31 28 3#S-2 ©vA -100 6.0 -6.0
37 22 3¢ N+1 &K 130 140 -14.0(10 12 3& N= +K 110 50.0 -50.0| 220 2v V= *4 -110 50 -5.0

220 14 N+1 vJ 110 10 -1.0|26 33 24 S= v6 110 50.0 -50.0| 7 15 24 O+1 v4 -140 -12.0 12.0
14 8 3¢ N= &2 110 10 -10(3128 3NS-1 ¢K -50 -8.0 8.0|10 12 3v V= &4 -140 -12.0 12.0
18 4 2¢ N+1 vJ 110 10 -10(36 23 3NN-1 3 -50 -8.0 80|16 6 24 O+1 v4 -140 -12.0 12.0
36 23 2¢ N+1 ¢5 110 10 -10(37 22 24 S-1 v6 -50 -8.0 8.0|37 22 34 O= ¢+ K -140 -12.0 12.0
3811 24 S= &5 110 10 -10| 517 3NDN-1 v6 -100 -33.0 33.0( 319 2v V+2 &7 -170 -30.0 30.0
26 33 2¢ N= vJ 90 -11.0 11013 9 64 N-2 ©vA -100 -33.0 33.0( 517 264 V+2 #4 -170  -30.0 30.0

715 3NS-1 &5 -100 -81.0 81.0(16 6 5#N-2 YA -100 -33.0 33.0(13 9 2v V+2 #4 -170  -30.0 30.0
10 12 5¢ N-1 #K -100 -81.0 81.0(18 4 34 S-2 vJ -100  -33.0 33.0(25 34 2v V+2 #4 -170 -30.0 30.0
25 34 44 S-1 T -100 -81.0 81.0| 715 3vO= a7 -140 -47.0 47.0(26 33 2v V+2 &4 -170  -30.0 30.0
3524 24 S-1 &8 -100 -81.0 81.0(38 11 3v O= &6 -140  -47.0 47.0(35 24 2y V+2 #4 -170  -30.0 30.0

319 3sV-= 45 -110 -86.0 86.0(3524 4v O= *6 -620 -183.0 183.0(18 4 34 S-4 ©vA -200  -44.0 440
32 27 44 S-2 &6 -200 -120.0 120.0 (32 27 4vyDO= 6 -790 -213.0 213.0|14 8 2y V+4 &4 -230 -61.0 61.0
30 - 7.0 30 - 7.0 30 - 7.0
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34 « E543 35 « KD8642 36 a7
Ost vD1087 Syd v75 Vast v K84
NS ¢1032 oV 73 Alla ¢ Kn1053
#Kn3 #KKn8 #ED1072
4KKnl109 D8 4953 #E 4 KKn543 10862
vEKn54  v962 vED43 vK1092 vEKn109 vD732
+95 + Kn8764 +82 + EKn1065 ¢ED + 9764
*K72 #EDS5 #ED73 #1054 #Kn3 *6
4762 « Kn107 «ED9
vK3 v Kn86 v 65
¢ EKD ¢+ KD94 ¢ K82
109864 #962 #K9854
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
222 2NV-2 %] 100 71.0 -71.0|27 34 5v V-3 K 300 156.0 -156.0 |27 34 3N S = 3 600 215.0 -215.0
618 2v 0-2 +A 100 71.0 -71.0|33 28 5v V-3 «K 300 156.0 -156.0 (11 13 44 S+1 43 150 102.0 -102.0
2734 2v0-2 +Q 100 710 -71.0| 420 5vV-2 «K 200 125.0 -125.0| 6 18 3# N+1 3 130 93.0 -93.0
321 2¢ O-1 K 50 46.0 -460| 6 18 4v V-2 &K 200 125.0 -125.0| 1 23 44 V-1  ¢J 100 79.0 -79.0
17 7 2NO-1 +A 50 46.0 -460| 321 4v V-1 &K 100 91.0 -91.0| 222 34 V-1 #A 100 79.0 -79.0
36 25 2v V-1 #J 50 46.0 -46.0(17 7 4v O-1 &K 100 91.0 -91.0|17 7 44 V-1 ¢6 100 79.0 -79.0
37 24 24 O-1 A 50 46.0 -46.0|31 30 5v V-1 7 100 91.0 -91.0|3130 44 O-1 ¢J 100 79.0 -79.0
123 1la V= a4 -80 -16.0 16.0(36 25 4v V-1 &K 100 91.0 -91.0|26 35 3NS-1 T -100 9.0 -9.0
420 INO=  &T 90 -190 19.0| 123 44 N-2 v9 -100  33.0 -33.0(14 10 34 V= +J -140 -6.0 6.0
11 13 INO= &3 90 -190 19.0| 8 16 44aDN-2 v9 -300 -34.0 34.0|36 25 34 V+1 ¢J -170  -20.0 20.0
19 5 INO= #4 90 -190 19.0|19 5 44DN-2 v3 -300 -34.0 34.0|37 24 24 V42 ¢ -170  -20.0 20.0
3130 INO= 43 90 -19.0 19.0| 222 44DN-3 v9 500 -99.0 99.0(38 12 2y V+2 &7 -170  -20.0 20.0
15 9 INS-1 T -100 -21.0 21.0|11 13 4v V= oK -620 -132.0 132.0| 3 21 54DN-1 %8 -200 -31.0 31.0
26 35 INS-1 46 -100 -21.0 21.0|14 10 4v V= 7 -620 -132.0 132.0| 4 20 3NS-2 &3 -200 -31.0 31.0
3328 2¢ O+1 +Q -110 -25.0 25.0(15 9 4v V= oK -620 -132.0 1320|119 5 3NS-2 ¢33 -200 -31.0 31.0
14 10 3#S-2 +9 -200 -66.0 66.0|26 35 4y V= o7 -620 -132.0 132.0|33 28 4a V= *A -620 -151.0 151.0
3812 3#S-2 &2 -200 -66.0 66.0|37 24 4y V= oK -620 -132.0 132.0|15 9 34D O +1 47 -930 -207.0 207.0
816 INS-3 +¢9 -300 -106.0 106.0 (38 12 4v V= oK -620 -132.0 132.0| 8 16 44DV +1 v6 -990 -218.0 218.0
32 - 0.6 32 - 0.6 32 - 0.6
37 « 1087 38 » 1052 39 « EKD7
Nord vD Ost v KDKn6 Syd vE106
NS ¢ KKn10653 ov ¢ EDKn8 Alla +8
»764 #DKn #107652
#9543 & EKKn2 + 96 & KKn74 93 # 10652
vEKn1092 v6543 vE985 v107 vDKn872 v953
+ D7 *2 + K6 ¢ 9743 ¢E75 ¢ KKn642
«D8 #E1093 #E6542 #K97 »E84 «D
D6 « ED83 « Kng4
v K87 v432 vK4
+ E984 ¢ 1052 ¢ D1093
#KKn52 #1083 #KKn93
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
38 13 4y V-2 T 100 97.0 -97.0| 125 2#V-3 vK 300 670 -670| 224 3NN+1 v9 630 176.0 -176.0
224 49 0-1 v7 50 740 -740| 422 3#V-3 vK 300 67.0 -67.0(33 30 INN+4 ¢2 210 32.0 -32.0
12 14 49 V-1 T 50 740 -74.0|27 36 3#V-3 #Q 300 67.0 -67.0| 125 24 N+2 ¢2 170 16.0 -16.0
1511 4v V-1 a7 50 740 -740|33 30 3#V-2 vK 200 23.0 -23.0( 323 24 N+2 #Q 170 16.0 -16.0
18 8 4y V-1 a7 50 740 -74.0]|16 10 INDN= &7 180 140 -140| 4 22 24 N+2 #Q 170 16.0 -16.0
3231 4v V-1 T 50 740 -740| 224 INN+2 &4 150 -1.0 10| 917 34 N+1 ¢3 170 16.0 -16.0
3330 4v0-1 v7 50 740 -740| 3 23 INN+2 &5 150 -1.0 1.0|16 10 24 N+2 #Q 170 16.0 -16.0
125 2v V+1l a7 -140 -9.0 9.0 917 INN+2 +6 150 -1.0 10| 719 24 N+1 v5 140 -1.0 1.0
521 2v V+1 &7 -140 -9.0 9.0(15 11 INN+2 ¢4 150 -1.0 1.0(12 14 24 N+1 #Q 140 -1.0 10
16 10 3v V= a7 -140 -9.0 9012 14 INN+1 4 120 -18.0 18.0|1511 24 N+1 vJ 140 -1.0 1.0
27 36 3v V= oT -140 -9.0 90|18 8 INN+1 &7 120 -18.0 18.0|120 6 24 N+1 #Q 140 -1.0 1.0
37 26 3v V= a2 -140 -9.0 9.0128 35 INN+1 &3 120 -18.0 18.0|27 36 24 N+1 v4 140 -1.0 1.0
323 2v0+2 4Q -170 -26.0 26.0|32 31 INN+1 ¢4 120 -18.0 18.0|32 31 24 N+1 +¥3 140 -1.0 1.0
719 2v V42 a7 -170 -26.0 26.0| 719 24 V-1 v¥5 100 -32.0 32.0|38 13 24 N+1 3 140 -1.0 1.0
2835 2v O+2 4Q -170  -26.0 26.0|20 6 3+« V-1 vK 100 -32.0 320|521 2v V-1 A 100 -19.0 19.0
917 44 O= «Q -420 -118.0 118.0|37 26 INV-1 vQ 100 -32.0 32.0|28 35 2v V-1 8 100 -19.0 19.0
20 6 4y V+1l T -450 -130.0 130.0| 521 INN= +6 90 -33.0 33.0|37 26 44 N-1 +v3 -100 -103.0 103.0
422 4vyDV= &7 -590 -170.0 170.0|38 13 INN= a4 90 -33.0 33.0|18 8 34 N-2 3 -200 -140.0 140.0
34 - -6.0 34 - -6.0 34 - -6.0
40 « K105 41 #8742 42 « K10
Vast v 10876 Nord v KKn73 Ost v KDKn754
Ingen + Kn9 ov + D62 Alla +D3
#ED92 #Kn6 #EKn4
487 4943 4D105 &EK96 4 EKn6 4 D952
v Kn5 v D43 v D65 vE84 v- v 109632
¢ E1062 ¢ K8543 ¢ K9854 ¢ Kn ¢ KKn10976 ¢5
#86543 #K10 *82 #EK943 »D1062 #K53
« EDKn62 4 Kn3 « 8743
v EK92 v 1092 vE8
¢ D7 ¢ E1073 ¢ E842
&Kn7 «D1075 #987
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr ut Res Poéang
622 44 S+2 vJ] 480 54.0 -54.0(33 32 6#0-3 +A 300 151.0 -151.0 (10 18 4v N= *2 620 201.0 -201.0
13 15 4y S+1 &7 450 39.0 -39.0| 424 3NO-2 o] 200 120.0 -120.0( 2 26 3v N+1 &3 170 78.0 -78.0
16 12 4y S+1 &3 450 39.0 -39.0|13 15 3NO-2 T 200 120.0 -120.0| 4 24 3y N= &K 140 63.0 -63.0
33 32 44 S+1 43 450 39.0 -39.0( 127 3NO-1 »T 100 83.0 -83.0(21 7 2v N+1 +¢5 140 63.0 -63.0
127 44 S= vJ 420 21.0 -21.0| 325 3NV-1 3 100 83.0 -83.0|3530 3v N= LX) 140 63.0 -63.0
226 44 S= &3 420 21.0 -21.0|1 820 3NV-1 v7 100 83.0 -83.0|16 12 2y N= +3 110 47.0 -47.0
325 44 S= 8 420 21.0 -21.0(19 9 3NO-1 43 100 83.0 -83.0(19 9 2v N= +5 110 47.0 -47.0
523 44 S= vJ 420 21.0 -21.0|28 37 3NV-1 v3 100 83.0 -83.0|28 37 2v N= +3 110 47.0 -47.0
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8 20 44 S= &3 420 210 -21.0(34 31 44 O-1 T 100 83.0 -83.0(34 31 2y N= &3 110 47.0 -47.0
17 11 44 N= &3 420 210 -21.0(3530 3NV-1 #4 100 83.0 -83.0(38 14 2y N= +5 110 47.0 -47.0
19 9 44 N= v3 420 21.0 -21.0(10 18 1vDN-2 ¢J -300 -45.0 4501315 3vy N-1 ¢2 -100 -31.0 31.0
21 7 4v S= &3 420 210 -210| 226 3NV= v7 -600 -127.0 127.0( 1 27 3NS-2 %6 -200 -72.0 72.0
28 37 44 S= v] 420 210 -210| 523 3NV= v7 -600 -127.0 127.0( 325 4y N-2 5 -200 -72.0 72.0
35 30 44 S= vlJ 420 21.0 -21.0(21 7 3NO= v7 -600 -127.0 127.0| 523 3NN-2 43 -200 -72.0 72.0
38 14 44 S= 48 420 210 -21.0(38 14 3NV = v3 -600 -127.0 127.0( 6 22 4y N-2 3 -200 -72.0 72.0
10 18 24 S+2 vJ 170 -82.0 820 622 3NV+1l ¢3 -630 -135.0 135.0( 8 20 4vyDN-1 5 -200 -72.0 72.0

424 49y N-1 3 -50 -160.0 160.0|17 11 3NO+1 ¥K -630 -135.0 135.0(|17 11 24 S-4 &4 -400 -142.0 142.0
34 31 44 S-1 &3 -50 -160.0 160.0|16 12 3NO +2 44 -660 -149.0 149.0 (33 32 4vyDN-2 +¢5 -500 -170.0 170.0

- 36 25| - 36 25| - 36 25
43 « KD9862 44 « K94 45 + E86
Syd va Vast v D1064 Nord v-

Ingen + K8 NS ¢+ ED64 Alla ¢ K8764

#D1075 £107 #E9876
473 10 « EKn8653 & D72 4 D1053 4 Kn94
v DKn6 v E8753 v- vK73 vD102 vKKn8643
¢ E64 + DKn10732 ¢+ K3 + Kn10972 ¢+ D1052 ¢ Kn9
#EKNn642 #3 #D9652 *E4 #43 #KKn

4« EKn54 «10 & K72

v K1092 v EKn9852 vE975

495 485 ¢ E3

+K98 #KKn83 #D1052

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

525 5vDV-4 4K 800 174.0 -174.0| 7 23 54RDV -2 %5 600 185.0 -185.0 |14 16 6% N = v4 1370 250.0 -250.0
22 8 34DN+2 #3 730 160.0 -160.0|22 8 54DV -3 ¥6 500 157.0 -157.0(24 6 5#S+1 3 620 102.0 -102.0

921 44DN= &3 590 118.0 -118.0|38 15 54DV -2 ¥6 300 90.0 -90.0(30 37 54 N+1 #4 620 102.0 -102.0

327 54 N= +Q 450 710 -71.0| 921 44 V-2 v3 100 19.0 -19.0( 327 3NS= v2 600 94.0 -94.0
24 6 44 N+1 ¢Q 450 710 -71.0|11 19 44DV -1 &T 100 19.0 -19.0| 525 3NS= v2 600 940 -94.0
34 33 44 N+1 &3 450 710 -71.0(14 16 44 V-2 v6 100 19.0 -19.0(11 19 3NS= v2 600 94.0 -94.0

426 44 N= &3 420 60.0 -60.0(20 10 44 V-2 v6 100 19.0 -19.0(18 12 3NS= v2 600 94.0 -94.0
11 19 54DV -2 &K 300 12.0 -12.0|30 37 44 V-2 &T 100 19.0 -19.0(34 33 3NS= v2 600 940 -94.0
30 37 34 N+1 &3 170 -38.0 38.0|34 33 44 V-2 &T 100 19.0 -19.0(36 31 3NS= v2 600 94.0 -94.0
38 15 34 N+1 &3 170 -38.0 38.0|36 31 44DV-1 ¥6 100 19.0 -19.0( 4 26 44 S+2 v2 170 -39.0 39.0

228 5vDV-1 ¢K 100 -65.0 65.0| 228 44 V-1 46 50 -9.0 9.0|20 10 3« N+2 ¢J 150 -46.0 46.0

723 5¢DO-1 ¢5 100 -65.0 65.0| 525 44 V-1 v6 50 -9.0 9.0|38 15 2v V-1 &A 100 -65.0 65.0
14 16 5v O-2 &A 100 -65.0 65.0]|18 12 44 V-1  &T 50 -9.0 9.0|17 13 3NS-1 v2 -100 -113.0 113.0
17 13 5¢DO-1 4A 100 -65.0 650(24 6 44 V-1 v6 50 -9.0 9.0/ 228 3NN-2 vQ -200 -145.0 145.0
3532 5¢ O-2 &A 100 -65.0 65.0(3532 44 V-1 44 50 -9.0 90| 921 3NS-2 3 -200 -145.0 145.0
36 31 4v V-1 &K 50 -88.0 88.0| 327 44 V= v5 -420 -162.0 162.0(22 8 3NS-2 vQ -200 -145.0 145.0
18 12 44 N-1 43 -50 -124.0 124.0|17 13 4v V= ¢ A -420 -162.0 162.0|35 32 64 N-2 v4 -200 -145.0 145.0
2010 44 N-1 ¢Q -50 -124.0 124.0| 4 26 44DV= ¥6 -590 -196.0 196.0( 7 23 3NS-3 v2 -300 -175.0 175.0

-1 141( - 1 141( - 1 14.1
46 473 47 #1063 48 & Kn2
Ost v 108 Syd v5 Vast v KKn98
Ingen ¢ DKn52 NS ¢ DKn85 ov ¢ 862

#KD1095 #108763 #EK74
& K62  DKn10 & DKn4 4 EK972 49754 « EKD1063
v Kn42 v 963 vK109 vD64 vD v 107632
+6 + EK10843 + K104 ¢ E732 ¢+Kn103 ¢-
#Kn76432 %8 #E954 #D #D10852 #96

« E9854 485 48

v EKD75 v EKn8732 vE54

¢ 97 ¢ 96 ¢+ EKD9754

&E &#KKn2 &Kn3

Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
1517 4¢DO-3 vQ 500 173.0 -173.0|19 13 64 O-2 YA 100 185.0 -185.0| 4 28 64 S= vQ 920 106.0 -106.0

725 3NN= *4 400 147.0 -147.0|12 20 44 O-1 +9 50 168.0 -168.0| 6 26 64 S = vQ 920 106.0 -106.0
3534 3NN= *T 400 147.0 -147.0| 4 28 44 V= v5 -420 -2.0 20| 725 6¢ S= a5 920 106.0 -106.0
36 33 24 S= +6 110 40.0 -40.0| 527 44 O= +9 -420 -2.0 2.0|12 20 6¢ S= 49 920 106.0 -106.0
3816 2¢ S= &3 90 380 -380| 725 44 O= vA -420 -2.0 2.0|19 13 6¢ S= vQ 920 106.0 -106.0

527 3NN-1 #9 50 -240 24.0(21 11 44 O= v5 -420 -2.0 2.0(21 11 6¢ S= vQ 920 106.0 -106.0

626 3NN-1 3 50 -240 24.0|31 1 44 0= v6 -420 -2.0 20|23 9 6¢ S= 45 920 106.0 -106.0
1022 4vS-1  +Q -50 -24.0 24.0|37 32 44 O= ¢ A -420 -2.0 20|31 1 6¢ N= 4K 920 106.0 -106.0
12 20 49y N-1 +A 50 -240 240|824 3NO+1 8 -430 -2.0 2.0|38 16 6¢ S= vQ 920 106.0 -106.0
18 14 3v S-1 +6 -50 -24.0 24.0|10 22 3NV+1l ¥5 -430 -2.0 20| 824 5¢ S+1 ¢Q 420 -68.0 68.0
21 11 4vy N-1 &8 -50 -24.0 240130 2 3NV+l ¥5 -430 -2.0 2.0|10 22 5¢ S+1 &J 420 -68.0 68.0
31 1 4¢vyN-1 ¢Q -50 -240 2401|3534 3NO+1 8 -430 -2.0 2.0|1517 5¢ S+1 +vQ 420 -68.0 68.0
37 32 4y N-1 &A -50 -24.0 24.0|36 33 3NV+1l &3 -430 -2.0 20|30 2 5¢ N+1 ¢Q 420 -68.0 68.0
428 49y S-2 46 -100 -53.0 53.0(23 9 44 O+1 7 -450 -17.0 17.0(3534 5¢ S+1 vQ 420 -68.0 68.0
23 9 4y N-2 &8 -100 -53.0 53.0(38 16 44 O+1 &2 -450 -17.0 17.0| 527 54DO-1 ¢A 200 -128.0 128.0
30 2 4vS-2 46 -100  -53.0 53.0(15 17 4NV+1 5 -460 -18.0 18.0(18 14 54D O -1 ¢A 200 -128.0 128.0

824 54N-3 +¢A -150 -72.0 72.0( 6 26 3#DN-2 #4A -500 -36.0 36.0(37 32 54 O-1 +¢A 100 -158.0 158.0
19 13 44DS-2 3 -300 -122.0 122.0|18 14 2¢DS-5 4Q -1400 -243.0 243.0|36 33 3NN-2 4Q -100 -200.0 200.0

3 - 7.4 3 - 7.4 3 - 7.4

6 26 Pen/Pen  -27.0 0.0
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49 « EDKn642 50 42 51 « Knl109
Nord v9 Ost v 643 Syd v K105
Ingen + D92 NS ¢ K10973 ov *2
#1093 #984 #DKn6543
4 K10 «98 «ED105 4KKn7 « E64 4 87532
vE863 vKKn1042 vEK vD10975 vKn73  vE984
¢1073 +ES8 ¢ Kn8642 +D ¢ EKKNn5 4106
#Kn865 #E742 «E10 #KD73 K102 %97
753 #9863 «KD
vD75 v Kn82 v D62
¢ KKn654 ¢ES5 ¢ D98743
KD #Kn652 +E8
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 28 44DS= vA 590 139.0 -139.0 | 9 25 34 V+3 42 -230 163.0 -163.0 |24 10 3NV -4 &2 400 147.0 -147.0
19 15 44DN= +A 590 139.0 -139.0| 1 33 3NV +2 3 -460  95.0 -95.0|11 23 4y V-3 &) 300 115.0 -115.0
133 44 N= vT 420 78.0 -78.0|11 23 4v O+2 +A -480 86.0 -86.0| 133 2NV-2 ] 200 79.0 -79.0
925 44 N= 49 420 78.0 -78.0 (19 15 44 V+2 &4 -480 86.0 -86.0|13 21 3& N= oT 110 36.0 -36.0
16 18 44 N= vT 420 78.0 -78.0|37 34 54 V+1 42 -480 86.0 -86.0|16 18 3# N= oT 110 36.0 -36.0
31 3 44 N-= ¢ A 420 780 -78.0| 4 30 4NO+3 49 520 69.0 -69.0|32 2 24 N+1 T 110 36.0 -36.0
826 24 N+2 T 170 220 220( 628 ANO+3 43 -520 69.0 -69.0|37 34 3 N= oT 110 36.0 -36.0
1321 34 S+1 ¢2 170 -220 220( 826 3NV+4 &5 520 69.0 -69.0| 727 29 O-1 +¢5 100 35.0 -35.0
22 12 34 N+1 T 170 -22.0 22.0|20 14 3NO+4 &5 520 69.0 -69.0|20 14 2v O-1 K 100 350 -35.0
24 10 34 S+1 vA 170 -22.0 22022 12 ANO+3 46 520  69.0 -69.0|38 17 3NV-1 ¢2 100 35.0 -35.0
32 2 24 N+2 +A 170 -22.0 22.0|13 21 64 O= ¢2 -980 -104.0 104.0|22 12 2¢ S-2 v3 -100 -50.0 50.0
36 35 34 S+1 YA 170 -220 22024 10 6y O= 45 -980 -104.0 104.0|31 3 INS-2 A -100 -50.0 50.0
727 24 N+1 ¢5 140 -38.0 38.0|32 2 6y O= 46 -980 -104.0 104.0|36 35 3¢ S-2 v3 -100 -50.0 50.0
38 17 24 N+1 +A 140 -38.0 38.0| 727 6NO= a2 -990 -104.0 104.0| 9 25 24 V= L) -110  -54.0 54.0
430 SNDV-1 &2 100 -53.0 53.0(16 18 6NV = v3 -990 -104.0 104.0| 6 28 34 V= *2 -140 -67.0 67.0
37 34 4vDO-1 #K 100 -53.0 53.0(36 35 6vy O+l ¢5 -1010 -112.0 1120|1915 24 O+1 ¢4 -140 -67.0 67.0
11 23 4v O0-1 #K 50 -76.0 76.0(38 17 6y O+1 &5 -1010 -112.0 1120| 430 54DN-2 T -300 -126.0 126.0
20 14 3NV = a4 -400 -200.0 200.0|31 3 6NO+1 &5 -1020 -117.0 117.0| 8 26 3¢DS-2 v3 -300 -126.0 126.0
5 - -6.2 5 - -6.2 5 - -6.2
52 » K94 53 «D10 54 #9763
Vast v 642 Nord v Kn986 Ost vE10742
Alla ¢ 10754 NS ¢ K873 ov +83
#Kn97 #1095 *K4
«EKn8 4D7532 4K76 498532 4EKKn &8
v10975 ¢¥K vK542 D73 vK93  vKn5
¢ Kn963 ¢ EK82 42 +E6 ¢+ KD75 ¢ EKn42
SE2 #K104 #D872 #Kn43 #E53  #DKn10972
» 106 « EKn4 « D10542
v EDKn83 vE10 v D86
¢D ¢ DKn1095 + 1096
#D8653 *EK6 86
Par  Kontr ut Res Poang Par  Kontr ut Res Poang Par  Kontr Ut Res Poang
23 13 44 O-1 &5 100 178.0 -178.0| 6 30 3NS+2 v4 660 540 -540| 828 6NV-4 ©vA 400 168.0 -168.0
1422 24 O+1 +Q -140 117.0 -117.0|14 22 3NS+2 v4 660 540 -54.0|20 16 6NV-4 v2 400 168.0 -168.0
2511 34 O+1 3 -170  105.0 -105.0 |38 18 3NS+2 v4 660 540 -54.0| 234 4NV-2 v2 200 116.0 -116.0
33 3 24 0+2 +Q -170  105.0 -105.0| 531 3NS+1 v4 630 38.0 -38.0|14 22 64DV -1 vA 200 116.0 -116.0
135 34042 +Q -200  93.0 -93.0| 828 3NS+1 v4 630 380 -380| 135 3NV-1 v2 100 83.0 -83.0
630 24 O+3 ¢Q 200  93.0 -93.0|10 26 3NS+1 v4 630 380 -38.0| 630 62V-1 YA 100 83.0 -83.0
38 18 34 O+2 43 200 93.0 -93.0|37 36 BNN+1 &2 630 380 -380| 927 3NV-1 v2 100 83.0 -83.0
1917 3NO = v3 -600 -54.0 54.0| 135 3NS= v4 600 220 -220]2115 620-1 ©vA 100 83.0 -83.0
234 44 O = ¢+ Q -620 -65.0 65.0|12 24 3NS= v2 600 220 -22.0(32 4 3NV-1 v2 100 83.0 -83.0
531 44 O= *Q -620 -65.0 65.0(19 17 3NN= 3 600 220 -22.0|38 18 3NV-1 v2 100 83.0 -83.0
21 15 4e V= T -620 -65.0 65.0|21 15 3NS= 46 600 22.0 -22.0|10 26 3NV = &2 -600 -103.0 103.0
32 4 44 0= ¢+ Q -620 -65.0 65.0|23 13 3NS= *2 600 220 -22.0|12 24 58V = vA -600 -103.0 103.0
37 36 44 O= *Q -620 -65.0 65.0|25 11 3NS= 46 600 220 -22.0|19 17 3NO= v2 -600 -103.0 103.0
828 44 O+1 ¢Q -650 -81.0 81.0(32 4 3NS= 46 600 220 -22.0|33 3 5&V+l a5 -620 -110.0 110.0
927 44 O+1 ¢Q -650 -81.0 81.0|33 3 3NS= v2 600 220 -22.0| 531 3NV+3 46 -690 -131.0 131.0
10 26 44 O+1 ¢2 -650 -81.0 81.0| 927 INS+3 3 180 -132.0 132.0(23 13 3NO+3 &2 -690 -131.0 131.0
12 24 44 O+1 ¢Q -650 -81.0 81.0| 234 INS+2 &7 150 -146.0 146.0(25 11 3NV +3 v2 -690 -131.0 131.0
20 16 44 O+1 +Q -650 -81.0 81.0|20 16 5¢ N-2 ¢4 -200 -212.0 212.0|37 36 64 V= *8 -1370 -254.0 254.0
7 - -9.6 7 - -9.6 7 - -9.6
55 4532 56 «D9 57 # 10953
Syd v K87 Vast vKD753 Nord vD6
Alla + ED103 Ingen + D107 ov ¢ E52
#K109 #Kn72 #K975
«EK876 41094 4 KKn10632 «E4 4EKKN72 44
v- v ED932 v2 v Kn9864 v 85 v KKn1097432
¢ 986 ¢ KKn52 ¢ E6 + K98 ¢ 843 +D
#D7652 #E #K1086 #E93 «D102 *E83
« DKn 4 875 « D86
vKn10654 vE10 vE
¢ 74 ¢ Kn5432 ¢ KKn10976
#Kn843 «D54 #Kn64
Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng Par  Kontr ut Res Poéang
1523 2¢ O+2 ¢4 -130 130.0 -130.0|10 28 3N O = *2 -400 40.0 -40.0| 137 4v O-1 T 100 178.0 -178.0
1820 2NO+1 7 -150 126.0 -126.0|15 23 3NO = *2 -400 40.0 -40.0| 335 3¢ S-2 4A -100  130.0 -130.0
24 14 24 O+3 4Q -150 126.0 -126.0| 1 37 44 V= vK -420 25.0 -25.0|24 14 5¢ S-2 K -100  130.0 -130.0
33 5 24 V+2 v7 -170 114.0 -114.0| 7 31 44 V= vK -420  25.0 -25.0|18 20 5¢ S-3 v8 -150 112.0 -112.0
335 1aV+4 ¢3 -200 105.0 -105.0 |24 14 44 O = v2 -420 25.0 -25.0|21 17 3v V+1l ©vA -170  106.0 -106.0
731 1a V+4 &K -200 105.0 -105.0 {18 20 3NO+1 2 430 25.0 -25.0(33 5 2v O+2 T -170  106.0 -106.0
26 12 24 V+3 42 -200 105.0 -105.0| 6 32 44 V+1 ¢33 -450 80 -8.0| 830 5¢DS-3 «K -500 -18.0 18.0
137 44 V= &9 -620 -51.0 51.0(11 27 44 V+1 3 -450 80 -8.0(3819 6¢6DS-3 «K -500 -18.0 18.0
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34 4 44 V= a2 -620 -51.0 51.0(13 25 44 O+1 ¢vK -450 80 -80|632 4v0= 46 -620 -63.0 63.0
10 28 3NV +1 49 -630 -55.0 55.0(21 17 44 O+1 ¢vK -450 8.0 -8.0|1127 4v O= *J -620 -63.0 63.0
11 27 44 V+1 &9 -650 -68.0 68.0(26 12 44 V+1 ¢7 -450 80 -8.0|1325 4v 0= *T -620 -63.0 63.0
1325 44 V+1 42 -650 -68.0 68.0|34 4 44 V+1 K -450 8.0 -8.0|1523 4v 0= *T -620 -63.0 63.0
21 17 44 O+1 &9 -650 -68.0 68.0(38 19 44 V+1 &2 -450 8.0 -8.0|2216 4v O= *4 -620 -63.0 63.0
38 19 44 V+1 42 -650 -68.0 68.0( 335 3NO+2 3 -460 8.0 -8.0|26 12 4v O= *T -620 -63.0 63.0
236 3NO+2 v4 -660 -68.0 68.0( 830 ANO+2 +¢2 -460 80 -80|34 4 4v 0= 46 -620 -63.0 63.0
2216 3NO+2 v4 -660 -68.0 68.0| 2 36 44 V+2 vK -480 -7.0 70| 731 4y O+1 46 -650 -77.0 77.0
6 32 2vDS-3 4K -800 -123.0 123.0(33 5 44 V+2 K -480 -7.0 7.0110 28 44 O+1 T -650 -77.0 77.0
8 30 INDS-3 46 -800 -123.0 123.0 (22 16 4vyDN-6 4A -1400 -238.0 238.0| 2 36 5¢DS-4 4A -800 -131.0 131.0
9 - 4.9 9 - 4.9 9 - 4.9
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